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QUESTION 1

An application consisting of two VMs must be keep on two separate hosts.
Which VMware feature would enable this?

A. Fault Tolerance

B. High Availability

C. Storage vMotion

D. Distributed Resource Scheduler

Correct Answer: B

QUESTION 2

A company has bought VxRail V Series appliances with PCle network cards. How can the PCle NIC ports be configured
in VxRail for data traffic?

A. Create new Standard or DV switch and add these NICs as uplinks to carry both vMotion and VM network traffic
B. During initial VxRail setup the NIC ports would be configured automatically to carry VM network traffic
C. Create new Standard or DV switch and add these NICs as uplinks to carry VM network traffic

D. During initial VxRail setup the NIC ports would be configured automatically to carry both vMotion and VM network
traffic

Correct Answer: C

QUESTION 3

In a VxRail stretched cluster deployment, what happens when network connectivity is lost between the data sites?
A. The stretched cluster will power down all virtual machines.

B. The witness will choose the preferred site to remain active.

C. The primary site will choose to be the preferred site and remain active.

D. The secondary site will choose to be the preferred site and remain active.

Correct Answer: D

QUESTION 4

An administrator wants to get information about a specific host and runs this code:
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GET /vl/hosts/{sn}

An API code 404 is returned.

What is the reason for the error code?

A. The provided {sn} was not valid

B. There was a server error

C. The administrator was not authenticated

D. The APl is designed to return all hosts in a cluster

Correct Answer: A

QUESTION 5

Dell EMC VxRail All-Flash nodes have been deployed in a Stretched Cluster configuration. A storage policy has been
configured with:

PFTT =1 SFTT =0 FTM = Default

What protection will a VMDK have with this storage policy?
A. RAID 1 cross-site RAID 5 locally

B. No cross-site protection RAID 1 locally

C. RAID 1 cross-site RAID 1 locally

D. RAID 1 cross-site No local protection

Correct Answer: A

QUESTION 6

What is a network consideration for VxRail version 4.5.x?
A. IPv6 Multicast is not required

B. IPv4 Multicast is required

C. IPv4 Multicast and IPv6 Multicast are required

D. IPv4 Multicast is not required

Correct Answer: B
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QUESTION 7

An administrator attempts to add an S Series node to a Gen 2 VxRail cluster and the build fails. What is a possible
reason for this failure?

A. IP address pool has no more free addresses

B. Hybrid and Flash nodes cannot be mixed in the same cluster
C. Quanta and Dell nodes cannot be mixed in the same cluster
D. Loudmouth process needs to be restarted

Correct Answer: B

QUESTION 8
What are the vSAN storage policy settings applied to the VxRail Manager VM during initial setup?

A. Primary level of failures to tolerate = 1 Failure tolerance method = Erasure coding Object space reservation (%) =
100

B. Primary level of failures to tolerate = 1 Object space reservation (%) = 100
C. Primary level of failures to tolerate = 1 Failure tolerance method = Mirroring Object space reservation (%) = 50
D. Primary level of failures to tolerate = 2 Failure tolerance method = Mirroring

Correct Answer: C

QUESTION 9

What is a consideration when scaling a VxRail cluster?

A. A maximum of 10 nodes is supported if 1 GbE networking is used

B. The first two nodes in a standard cluster must be identical

C. Mixing of all-flash and NVMe nodes is not allowed

D. Mixing VxRail nodes with different base network speeds is not permitted

Correct Answer: C

QUESTION 10

Which feature captures 1/O traces from ESXi and generates metrics that represent the storage 1/0 behavior at VMDK
level?

A. Storage 1/0O Control
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B. IOmeter
C. IQinsight
D. vSAN iSCSI Target Service

Correct Answer: C

QUESTION 11

What is a consideration when planning for expansion of an existing 4 node all-flash VxRail Cluster?

A. New nodes can contain hybrid, all-flash, or NVMe disks
B. Multiple new nodes can be added at the same time

C. New nodes must be identical to the existing nodes

D. New nodes can be any processor family

Correct Answer: A

QUESTION 12

A customer wants to manage multiple VxRail clusters from one vSphere client instance. They would like to avoid

purchasing additional licensing.

Which option meets the customer needs?

A. multiple VxRail clusters using Enhanced Linked Mode

B. multiple VxRail clusters using CloudIQ.

C. multiple VxRail clusters using a single external vCenter

D. multiple VxRail clusters using SaaS multi-cluster management

Correct Answer: B

QUESTION 13

Which VxRail model is a 1U form factor per node?
A. E Series

B. P Series

C. S Series

D. G Series
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Correct Answer: A

QUESTION 14

What is a requirement for enabling vSAN Data at Rest Encryption (DARE) on a VxRail cluster?
A. Internal Key Management System

B. External Key Management System

C. External vCenter Server

D. All-flash configuration

Correct Answer: B

QUESTION 15

A VxRail is experiencing issues. The administrator decides to contact Dell EMC Support. Where in VxRail Manager can
the administrator generate information needed for the support call?

A. Config > Generate Support Bundle

B. Health > General > Generate Support Bundle
C. Support > Generate New Log Bundle

D. Config > General > Generate New Log Bundle

Correct Answer: D
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